Questions on What-If Analysis

Goal Seek (5)

Q. How much down payment should a person deposit at the beginning of 5 year duration for
accumulating Rs. 100000 at the end. He also plans to deposit Rs. 10000 per year as a recurring deposit
at the end of each year. The bank offers 8% rate of interest compounded annually. Use FV to compute
the accumulated amount at the end of the duration. Use Goal Seek for finding the answer instead of
using PV.

Q. A student is planning her goals about the marks she should attain in the forthcoming Semester 4
examinations in order to achieve a distinction (75%). Assuming that examination of each subject is for
100 marks, her marks of the previous semesters are given as under.

Subject 1 Subject 2 Subject 3 Subject 4
Semester 1 82 67 53 87
Semester 2 88 78 76 69
Semester 3 89 85 91 67

Find out how many marks should she obtain in 4™ semester to secure distinction.

Q. A business owner wants to decide if he should try to increase the sales a product or price of an
existing product in order to increase the profit by 10%.

Current Sales 82
Cost per Unit 75
Profit per unit 12

The owner believes that he can either increase sales by 5 units without incurring additional costs while
the price can be increased by Rs 8 without affecting the sales.

Q. A certain sum of money is invested at 4% compounded annually. The interest for the second year is
Rs 25. Find the interest for the third year using goal seek.

1-D Data Table (3)
Q. Using NPV function, compute the net present value of the investment for the costs of capital 8%,
10%, 12% and 15% in the form of a row wise 1-D data table.

Period 0 1 2 3 4
Outflow 100000
Inflow 25000 35000 36000 40000

Hint: Net present Value = NPV (of cash flows starting from period 1) — Cash flow at period 0

Q. Using NPV function, compute the net present value of the investment for the costs of capital 8%,
10%, 12% and 15% in the form of a column wise 1-D data table.

Period 0 1 2 3 4
Outflow 100000
Inflow 25000 35000 36000 40000

Hint: Net present Value = NPV (of cash flows starting from period 1) — Cash flow at period 0

Q. Using data table, draw the following curve from -5 to +5 value of x.

y=2x>+3x + 4

2-D Data Table (4)
Q. Using 2-D data table, prepare the future value annuity table like the one shown below. Each of the
[(1+D)™-i]

future value is computed using the formula FV = p



1% 2% 3% 4% 5% 6% 7% 8% 9% 10% 11% 12% 13% 14% 15%
10000 ( 1.0000 | 1.0000| 1.0000| 1.0000| 1.0000| 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000
2.0100 ( 2.0200 | 2.0300 | 2.0400 | 2.0500 | 2.0600 | 2.0700 2.0800 2.0900 2.1000 2.1100 2.1200 2.1300 2.1400 2.1500
3.0301 | 3.0604 | 3.0909 | 3.1216 | 3.1525| 3.1836 | 3.2149 3.2464 3.2781 3.3100 3.3421 3.3744 3.4069 3.439 3.4725
40604 | 41216 | 4.1836| 4.2465| 4.3101 | 4.3746| 4.4399 4.5061 45731 4.6410 4.7097 47793 4.8498 49211 4.9934
51010 | 5.2040 | 5.3091| 5.4163 ( 5.5256 | 5.6371| 5.7507 5.8666 5.9847 6.1051 6.2278 6.3528 6.4803 6.6101 6.7424
6.1520 [ 6.3081 | 6.4684 | 66330 | 6.8019 | 69753 | 7.1533 7.3359 7.5233 7.7156 7.9129 8.1152 8.3227 8.5355 8.7537
72135 7.4343 | 7.6625| 7.8983 | 8.1420 | 8.3938 | 8.6540 8.9228 9.2004 9.4872 9.7833 | 10.0890 ( 10.4047 | 10.7305 | 11.0668
8.2857 | 8.5830 | 8.8923 | 9.2142 | 9.5491 | 9.8975| 10.2598 | 10.6366 | 11.0285 | 11.4359( 11.8594 | 122997 | 12.7573 13.2328 | 13.7268
9.3685 | 9.7546 | 10.1591 | 10.5828 | 11.0266 | 11.4913 | 119780 | 124876 13.0210 | 13.5795| 14.1640 | 147757 ( 154157 | 16.0853 | 16.7858

10.4622 | 10.9497 | 11.4639 | 12.0061 | 12.5779 | 13.1808 | 13.8164 | 144866 | 15.1929 ( 159374 | 16.7220 | 17.5487 | 18.4197 ( 19.3373 | 20.3037
11.5668 | 12.1687 | 12.8078 | 13.4864 | 14.2068 | 14.9716 | 157836 | 16.6455 | 17.5603 ( 185312 | 19.5614 | 206546 | 21.8143 ( 23.0445 | 24.3493
12.6825 | 13.4121 | 14.1920 | 15.0258 | 15.9171 | 16.8699 | 17.8885 | 18.9771 20.1407 | 21.3843 | 22.7132| 241331 256502 | 27.2707 | 29.0017
13.8093 | 14.6803 | 15.6178 | 16.6268 | 17.7130 | 18.8821 | 20.1406 ( 214953 ( 229534 | 245227 | 26.2116| 28.0291 299847 | 32.0887 | 34.3519
149474 | 159739 ( 17.0863 | 18.2919 | 19.5986 | 21.0151 | 225505 | 24.2149 | 26.0192 ( 27.9750 | 30.0949 | 323926 | 34.8827 ( 37.5811 | 40.5047
16.0969 | 17.2934 | 18.5989 | 20.0236 | 21.5786 | 23.2760 | 25.1290 | 27.1521 | 293609 ( 31.7725 | 34.4054 | 37.2797 | 404175 43.8424 | 47.5804
17.2579 | 18.6393 | 20.1569 | 21.8245 | 23.6575 | 25.6725 | 27.8881 | 30.3243 | 33.0034 ( 359497 | 39.1899 | 427533 | 46.6717 [ 50.9804 | 55.7175
184304 | 20.0121 | 21.7616 | 23.6975 | 25.8404 | 28.2129 | 30.8402 | 33.7502 | 36.9737 ( 40.5447 | 44.5008 | 488837 | 53.7391 | 59.1176 | 65.0751
19.6147 | 21.4123 | 23.4144 | 256454 | 28.1324 | 30.9057 | 33.9990 | 37.4502 | 413013 | 455992 | 50.3959 | 55.7497 | 61.7251 | 68.3941 | 75.8364
20.8109 | 22.8406 | 25.1169 | 27.6712 | 30.5390 | 33.7600 | 37.3790 | 41.4463 | 46.0185 ( 51.1591 | 56.9395 | 63.4397 | 70.7494 | 789692 | 88.2118
22.0190 | 24.2974 | 26.8704 | 29.7781 | 33.0660 | 36.7856 | 40.9955 | 45.7620 | 51.1601 ( 57.2750 | 64.2028 | 72.0524 | 80.9468 | 91.0249 | 102.4436
23.2392 | 25.7833 | 28.6765 | 31.9692 | 35.7193 | 39.9927 | 44.8652 | 504229 ( 56.7645 | 64.0025| 72.2651 | 816987 ( 92.4699 | 104.7684 | 118.8101
244716 | 27.2990 | 30.5368 | 34.2480 | 38.5052 | 43.3923 | 49.0057 | 55.4568 | 62.8733 ( 714027 81.2143 | 925026 | 105.4910 | 120.4360 | 137.6316
25.7163 | 28.8450 | 32.4529 | 36.6179 | 41.4305 | 46.9958 | 53.4361 | 60.8933 | 69.5319 ( 79.5430 (| 91.1479 | 104.6029 | 120.2048 | 138.2970 | 159.2764
26.9735 | 30.4219 | 34.4265 | 39.0826 | 44.5020 | 50.8156 | 58.1767 | 66.7648 | 76.7898 | 88.4973 | 102.1742 | 118.1552 [ 136.8315 | 158.6586 | 184.1678
28.2432 | 32.0303 | 36.4593 | 41.6459 | 47.7271 | 54.8645 | 63.2490 ( 73.1059 | 84.7009 | 98.3471 | 1144133 | 133.3339 | 155.6196 | 181.8708 | 212.7930
29.5256 | 33.6709 | 38.5530 | 44.3117 | 51.1135 | 59.1564 | 68.6765 | 79.9544 | 93.3240 ( 109.1818 | 127.9988 | 150.3339 | 176.8501 | 208.3327 | 245.7120
30.8209 | 35.3443 | 40.7096 | 47.0842 | 54.6691 | 63.7058 | 74.4838 ( 87.3508 | 102.7231 | 121.0999 | 143.0786 | 169.3740 | 200.8406 | 238.4993 | 283.5688
32.1291 | 37.0512 | 42.9309 | 49.9676 | 58.4026 | 68.5281 | 80.6977 | 95.3388 | 112.9682 | 134.2099 | 159.8173 | 190.6989 | 227.9499 | 272.8892 | 327.1041
33.4504 | 38.7922 | 45.2189 | 52.9663 | 62.3227 | 73.6398 | 87.3465 | 103.9659 | 124.1354 | 148.6309 | 178.3972 | 214.5828 | 258.5834 | 312.0937 | 377.1697
34.7849 | 40.5681 | 47.5754 | 56.0849 | 66.4388 | 79.0582 | 94.4608 | 113.2832 | 136.3075 | 164.4940 | 1959.0209 | 2413327 | 293.1992 | 356.7868 | 434.7451

=
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Q. Using 2-D data table, prepare the natural log table like the one shown below. Each of the future value
is computed using the formula FV = log(x + y/100) where the values of x are given in the first column
and values y are given on the row header.

Natural Logarithm Table

N 0 1 2 3 4 5 6 7 8 9
1.0 0.0000 0.0100 0.0198 0.0296 0.0392 0.0488 0.0583 0.0677 0.0770 0.0862
1.1 0.0953 0.1044 0.1133 0.1222 0.1310 0.1398 0.1484 0.1570 0.1655 0.1740
1.2 0.1823 0.1906 0.1989 0.2070 0.2151 0.2231 0.2311 0.2390 0.2469 0.2546
1.3 0.2624 0.2700 0.2776 0.2852 0.2927 0.3001 0.3075 0.3148 0.3221 0.3293
1.4 0.3365 0.3436 0.3507 0.3577 0.3646 0.3716 0.3784 0.3853 0.3920 0.3988
1.5 0.4055 0.4121 0.4187 0.4253 0.4318 0.4383 0.4447 0.4511 0.4574 0.4637
0.4700 0.4762 0.4824 0.4886 0.4947 0.5008 0.5068 0.5128 0.5188 0.5247
1.7 0.5306 0.5365 0.5423 0.5481 0.5539 0.5596 0.5653 0.5710 0.5766 0.5822
1.8 0.5878 0.5933 0.5988 0.6043 0.6098 0.6152 0.6206 0.6259 0.6313 0.6366
1.9 0.6419 0.6471 0.6523 0.6575 0.6627 0.6678 0.6729 0.6780 0.6831 0.6881
2.0 0.6931 0.6981 0.7031 0.7080 0.7129 0.7178 0.7227 0.7275 0.7324 0.7372
2.1 0.7419 0.7467 0.7514 0.7561 0.7608 0.7655 0.7701 0.7747 0.7793 0.7839
2.2 0.7885 0.7930 0.7975 0.8020 0.8065 0.8109 0.8154 0.8198 0.8242 0.8286
2.3 0.8329 0.8372 0.8416 0.8459 0.8502 0.8544 0.8587 0.8629 0.8671 0.8713
2.4 0.8755 0.8796 0.8838 0.8879 0.8920 0.8961 0.9002 0.9042 0.9083 0.9123
2.5 09163 0.9203 0.9243 0.9282 0.9322 0.9361 0.9400 0.9439 0.9478 0.9517
0.9555 0.9594 0.9632 0.9670 0.9708 0.9746 0.9783 0.9821 0.9858 0.9895
2.7 09933 0.9969 1.0006 1.0043 1.0080 1.0116 1.0152 1.0188 1.0225 1.0260
2.8 1.0296 1.0332 1.0367 1.0403 1.0438 1.0473 1.0508 1.0543 1.0578 1.0613
29 1.0647 1.0682 1.0716 1.0750 1.0784 1.0818 1.0852 1.0886 1.0919 1.0953
3.0 1.0986 1.1019 1.1053 1.1086 1.1119 1.1151 1.1184 1.1217 1.1249 1.1282




Q. If two dice are thrown, find out the probability of getting the sum of numbers obtained is less than
10. Use 2-D data table to generate the sample space.

Q. A business owner wants to increase the profit by 10%. Find out the effect of changing in price of
sales and cost by increasing each of them by one unit at a time by using a 2-D data table.

Current Sales 82
Cost per Unit 75
Profit per unit 12

Scenario Manager (1)

Q. The current profit situation of a business owner is as follows.

Current Sales 82
Cost per Unit 75
Profit per unit 12

Using the scenario manager, find the effect of in the new profit in case of the following situations.

a. Sales=70and cost = 80
b. Sales =190 and cost =72
c. Sales =85 and cost = 80
d. Sales =65 and cost = 80



